

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Carrie Exploration & Development LLC 210 West 22nd Street

Hays, KS 67601

INVOICE

1

Invoice Number: 134403

Invoice Date: Jan 9, 2013

Page:

Now Includes:



Customer ID	Well Name# or Customer P.O.	Paymen	t.Terms
Carrie	Sara C #1	Net 30	Days
Job Location	Gamp Location	Service Date	Due Date
KS2-03	Great Bend	Jan 9, 2013	2/8/13

Quantity ::	ltem	Description	Unit Price	Amount
114.00		Class A Common	17.90	2,040.60
76.00	MAT	Pozmix (9.35	710.60
6.00	MAT	Gel Concord to	23.40	140.40
47.00	MAT	Flo Seal	2.97	139.59
204.00	SER	Cubic Feet VIII	2.48	505.94
298.20	SER	Ton Mileage	2.60	775.32
1.00	SER	Plug to Abandon	2,600.47	2,600.47
35.00	SER	Pump Truck Mileage	7.70	269.50
35.00	SER	Light Vehicle Mileage	4.40	154.00
1.00	CEMENTER	Dustin Chambers		
1.00	EQUIP OPER	Trint Hall		
1.00	OPER ASSIST	Charles Kinyon		
ALL PRICES AR		Subtotal	-	7,336.42

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

5/834.10 ··

Subtotal	7,336.42
Sales Tax	535.56
Total Invoice Amount	7,871.98
Payment/Credit Applied	
TOTAL	7,871.98

ALLIED OIL & GAS SERVICES, LLC 059234 Federal Tax I.D.# 20-5975804

EMIT TO P.O. BOX 93999	SERVICE POINT:
LEMIT TO P.O. BOX 93999	
POLITICA AND TOWAR 76000	6120 Thendats
SOUTHLAKE, TEXAS 76092	1-10-13
	LLED OUT ON LOCATION JOB START JOB FINISH
10EC: 7. 1	LLED OUT ON LOCATION JOB START JOB FINISH
ATE 1-9-13 9 225 10h	COUNTY STATE
EASE Sora WELL# 6/ LOCATION 28/ 4/	101/7/10/7/1
OLD OR NEW (Circle one) 5/10 TO	1. 1.
LB OK (ELIVORISM TO TATE OF	J.03 1
1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	OWNER
CONTRACTOR Fossil Drilling #2	OWNER
TYPE OF JOB PTA	
HOLE SIZE 12/4 T.D.	CEMENT
CASING SIZE 405/4 DEPTH	AMOUNT ORDERED 190 Sts 607. Class
	MOXIPOZ MYGET MY FID
rubing size DEPTH	1097/032-17
DRILL PIPE 4/2 DEPTH 3593	
TOOL DEPTH	6
PRES, MAX MINIMUM	COMMON @ 17.90 2.0 YO.
ALO:	POZMIV 76 @ 9.33 710.
1101101101	
CEMENT LEFT IN CSG. All	
PERFS.	CHLORIDE@
DISPLACEMENT Fresh LATER	ASC 4/8 5 e f / 47 @ 2.97 /39. 37
	1/05ep/ 47 @ 2.97 /39.57
EQUIPMENT	@
	@
PUMPTRUCK CEMENTER Distrib Chambers +	
	<u> </u>
# 3 E E HELPER Trint Holl 2	
BULK TRUCK	@
# 341 DRIVER Charles Kingy 3	
BULK TRUCK	@
# DRIVER	HANDLING 244.01 @2.48 505.99
	MIRACE \$.574 35 X 2.60 775. 2
REMARKS:	298.20 TOTAL 4.312.
Ell 14 lewith his mid	$\lambda G \lambda$. \mathcal{L}^{ω}
111 Halantra Kill hand	SERVICE
1 35 93 - 35 9K3	GER 41CB
21350 - 359ks	
3 900 ~ 35 465	DEPTH OF JOB 3593
y 325 - 35 5Ks	PUMPTRUCK CHARGE 2600.47
5 60 ~ 35 9Kg	
6 BH-2546	MILEAGE #UM 35 @7.70 269.3
DILABORN 6530AM F10-13	MANIFOLD@
- Proposition	MANIFOLD LUN 35 @ 4.40 154.00
•	@
CHARGETO: CUME Exploration	
CHARGE IO: WITH DX pros quelle	TOTAL 3.023
STREET	101110
CITY STATE ZIP	THE SECOND CONTRACTOR
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
CITYSTATEZIP	
CITYSTATEZIP	@
CITYSTATEZIP	@
	@
To: Allied Oil & Gas Services, LLC.	@
To: Allied Oil & Gas Services, LLC.	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL SALES TAX (If Any) 53555 TOTAL CHARGES 7. 336. YZ
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	@
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL SALES TAX (If Any) 53555 TOTAL CHARGES 7. 336. YZ
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL SALES TAX (If Any) 53555 TOTAL CHARGES 7. 336. YZ





Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To: Carrie Exploration & Development LLC 210 West 22nd Street

Hays, KS 67601

INVOICE

Invoice Number: 134322

Invoice Date: Jan 2, 2013

Page:

Now Includes: Areat-Em-Rito





Hays, No 0700			Torms
		Payment	
Well Name# C	or Customer P.O.	Net 30	Days Dué Date
	ra C #1	Service Date	
	o Location	Jan 2, 2013	2/1/13
The state of the s	at Bend	Unit Price	Amount
KS2-01			4 022 50

Job Location	Great Bend		
KS2-01		Unit Price	Amount 4,922.50
	Description	17.90	•
Quantity : Item	Class A Common	23.40	117.00
275.00 MAT		64.00	640.00
5.00 MAT	Gel	2.48	736.50
10.00 MAT	Chloride		1,228.50
297.00 SER	Cubic Feet	2.60	1,512.25
472.50 SER	Ton Mileage	1,512.25	· · · · · · · · · · · · · · · · · · ·
1.00 SER	Surface	7.70	269.50
35.00 SER	Pump Truck Mileage	4.40	154.00
35.00 SER	Light Vehicle Mileage		
1.00 CEMENTE	Tim Dickson		
1.00 EQUIP OF			
1.00 OPER AS	Al Comprosity		
1.00 OPER AS	SIST Charles Kinyon	w Wacc	
1.00 OF LIVAS	SIST Charles Kinyon	and was it is the	
		,	
			0.500.05
	Subtotal		9,580.25

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$2395.00

ONLY IF PAID ON OR BEFORE Jan 27, 2013

Cultistal	9,580.25
Subtotal	414.60
Sales Tax Total Invoice Amount	9,994.85
Payment/Credit Applied	
TOTAL	9,994.85

ALLIED OIL & GAS SERVICES, LLC 059172 Federal Tax 1.D.# 20-5975804

COURT TO P.U. E			****		SER	VICE POINT:	
2001	HLAKE,	IEXAS 7	5092			1 rest	Bendille
DATE 1-2-13	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	IOR START	JOB FINISH
		193	10	12×30 PM		COUNTY	STATE
OLD OR NEW Ci		<u> </u>	LOCATIONT Le	38 20 E	cost to	Reno	1
ODD OTHER TO	icie (die)		Rayners Nd.	South Fo	محنب لمد	1-01	7, 9
CONTRACTOR 3	لنديت	·	<u> </u>	OWNER S	251.44-0	7	•
TYPE OF JOB	where			_			
HOLE SIZE (A	54.17	<u>T.E</u>	231	CEMENT			
CASING SIZE TO TUBING SIZE	7/9		ын ५ ३५,	_ AMOUNT O	RDERED 225	Clare	¥
DRILL PIPE			PTH PTH	32 30 m	Zo /LeV	Dec 1501	2 ;}
TOOL			PTH		~ · · · · · · · · · · · · · · · · · · ·		
PRES. MAX		MI	NIMUM	_ COMMON	275	@17.90	4.922.50
MEAS, LINE		SH	OE JOINT	_ POZMIX _		@	
CEMENT LEFT IN PERFS.	CSG. J.	5		_ GEL _	5	@ <u>23.40</u>	
DISPLACEMENT	17 bbi			_ CHLORIDE_			640.00
DIST EACHMENT		A	•	_ ASC	·	_@	
	EQU	JIPMENT	[-		@ @	
BUILDEDILO				1			
_ · ·	CEMENT			<u></u>			
BULK TRUCK	HELPER	<u>^</u>	evin Eddy.	2			
	DRIVER	100	n Henereux	3			
BULK TRUCK				<u> </u>		@	
#	DRIVER	<u> Cha</u>	de Kimon	HANDLING	797 4	@	736.50
		,	4		3.5 × 32	@ <u><-,48</u>	1.228.30
	RE	MARKS:	4 ,				7.644.50
D- 294'			Back Craute	Juin 472.	50	IOIAL	7.47.7
Missed 225	18 C	Least	1.35-C X5-13-	aren His	SERV	ICE	
Levelgril	Suic.	Lung	H30.		UDA()		
				_ DEPTH OF J	OB 234'		
Fren With	<u> 1 i</u>	لإسميك	50 she Qu	T PUMPTRUC	K CHARGE	1512.3	<u> </u>
		صميا	tetis cimes				
to Sugare	7 N.	ZNOC	irulito	. —	Hum 3.		269.50
	-X-1 727	<u> </u>	VALUATIVE	— MANIFOLD	Lum 35	_ @ 1 0	154.00
					2444 20	@ <u>1. 1.0</u>	
CHARGE TO:	m 00. 2	Exo	- Astimo	<u></u>			
	A SALE DO	-realise	0,000	-		TOTAL	1935. 25
STREET				_ '		TOTAL	
CITY	\$7	TATE	ZIP	_			
			0		PLUG & FLOA	T EQUIPMEN	łT
		_	North				
			3			@	* *************************************
			_			@	•
To: Allied Oil &						@	
			menting equipment			_ <u>@</u>	• • • • • • • • • • • • • • • • • • • •
			to assist owner or The above work was				
			of owner agent or	•		TOTAL	
			and the "GENERAL		ils	110	· · · · · · · · · · · · · · · · · · ·
			d on the reverse sid	0 4 7 FO TA V	(If Any)	7, 60	
	·				RGES 9. 58	10.2	
- DDÍNÍTEÍS SEASÁM	1 P.	burt	1 Santa	TOTAL CHA	2.39	2.00	D 137 AA T
PRINTED NAME	100	7	1 3	DISCOUNT		IF PAI	ID IN 30 DAYS
2121, 2021 - N	10/	1/-	f l D.	··	7/80.	40	
SIGNATURE X	1/100	VX	pull	_			